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QUESTION 1

Refer to the exhibit. 

Traffic going from Corp-A-DC-2 towards Corp-B will always use Link-1. Traffic from Corp-B back to CorpA-DC-1 may
traverse Corp-A-DC-1, over the GigaMAN before it reaches Corp-A-DC-2. No TCP connections are initiated from Corp-
B to either Corp-A-DC-1 or Corp-A-DC-2. Unfortunately, the customer does not have any money to purchase any
additional Steelheads. What are some possible fixes to ensure optimization occurs while Link-1 is operational? (If Link-1
ceases to function, optimization is not possible.) (Select 2) 

A. Configure a fixed-target rule on the Corp-A-DC-2 Steelhead pointing to the Corp-B Steelhead on port 7800 

B. On the Corp-B Steelhead, enable "in-path probe direct" 

C. On the Corp-A-DC-2 Steelhead, enable "in-path probe direct" 

D. Configure the Corp-A-DC-2 Steelhead to inject a route into the network 

E. Enable Full Transparency 

Correct Answer: AC 
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QUESTION 2

A Steelhead administrator has recently decided to implement Steelhead Mobile clients on some of his company
employees PCs. Most of the PCs only have 5 GB of disk space available. What would you do in this case? (Select 2) 

A. Nothing can be done. The Steelhead Mobile client needs at least 10 GB of hard drive space. 

B. Change the data store settings on the Steelhead Mobile Controller\\'s policy and choose a smaller size for the data
store size. 

C. Change the data store settings on the data center Steelhead appliance\\'s policy and choose a smaller size for the
data store size. 

D. Create a new endpoint policy with a smaller data store size. 

Correct Answer: BD 

 

QUESTION 3

In a WCCP cluster using mask assignments, if there are six Steelhead appliances in the cluster, what is the minimum
number of bits that should be used? 

B. 3 

C. 5 

D. 6 

E. 7 

Correct Answer: B 

 

QUESTION 4

What steps take place during an upgrade process? 

A. The new software image will be loaded into the Backup partition; a reboot will be necessary to have the Steelhead
appliance switch to the newer software 

B. The new software image will be loaded into the Booted partition; a reboot will be necessary to have the Steelhead
appliance switch to the newer software 

C. The new software image will be loaded into the Backup partition; a restart will be necessary to have the Steelhead
appliance switch to the newer software 

D. The new software image will be loaded into the Booted partition; a restart will be necessary to have the Steelhead
appliance switch to the newer software 

E. The new software image will be loaded into the Backup partition; a configuration save will be necessary to have the
Steelhead appliance switch to the newer software 

Correct Answer: A 
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QUESTION 5

In a quad Interceptor appliance deployment the directly connected pairs are configured in failover mode: 

IC-A and IC-B are failover buddies IC-C and IC-D are failover buddies 

To prevent asymmetric routing IC-A should be configured to have a neighbor relationship with which of the following
peer Interceptors? (Select 2) 

A. IC-B 

B. IC-C 

C. IC-D 

D. Interceptor appliance uses auto discovery to learn about each other 

E. Neighbor relationships are unnecessary in a quad Interceptor appliance deployment 

Correct Answer: BC 
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